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Steve only likes easy courses.

Science courses are hard.

All the courses in the basketweaving department are easy.

BK303 is the basketweaving course.
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(setg x (+ 7 3))

->

{setq term (list ). {min (max 24 3) (*53) (min (-32) (+15)) (" (- 64) X))
>

(setq terms {append (list term)’(8)))

>

(append ?(+) Y((/ 4 (* 3 5))) terms)

->

3.2 andioulUswnTudanntw Lisp wieade function  y*(x+1)+x°(y+1)° i
muald +, -, % /10 primitive function 1239018 Lisp
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(car (cdr {cons (car {cons 1 (cdr /(2 1 8) ) ) ) (cons {car /(71 5)) (3 2)))))
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Part B: Neural Networks

Question # | Full Score Assigned Score
1 20
2 30

Total Score 50

Answer the following questions in the book provided

Question #1 ( 20 marks)

1.1 What are the Transfer functions? List and draw its graph for at
least 3 types of the Transfer function applied for neural
networks.

1.2 Summarize what you have learned from the assignment you
were assigned in the class. (solve the problem by using neural
networks)

Hint: Identify your problem, analyze for the input and output variables,
prepare the data, design the network model, train and test the network.

Question #2 ( 30 marks)

Consider a two-layer perceptron (an input, a hidden, and an output
layer). There are two input units, three hidden units, and one output unit.
Name them I], Iz, HI, Hz, H3, and 01, I'GSpCCtiVCly. Let WHi and WO]
denote the input weight vectors of H; and Oy, respectively. Define the
matrix WH = [WHIT WHzT WH3T] and the matrix Wo = W()]T where the
superscript 7' means “transpose”. Let 6y = [0y1 Oy Ox3] and 65 = [0 ]
where Gy; and 8q; are the thresholds for the hidden unit and the output unit,
respectively. Let 7, H, and O be the input, the hidden and the output
vectors of activation levels. Then, we have

H = F,(IWy - 6y)
and
O = Fi,(HWo — o)

where F), is a hard-limiting function. Assume the thresholds of all the
hidden and the output units are zero. Also assume

Wui=[-2,2] Wn2=1[2,2] Wu3=[1,3] Wo=[1,2,1]
You are given two classes of patterns as follows:

(7,5),(6,3),(2,4) e Class A
(6,0), (-1,-2), (3,-3) e Class B



2.1 Will this machine separate these patterns? (Hint: Calculate the
output for each pattern, and then see whether one class of patterns output
1 and the other class 0)

2.2 Discuss the linear separability of these patterns.

Assoc. Prof. Somchai Chuchom



